/DVIRB

*UXSD SRINiDG $.6/

7\J

7\J
/HNIRUDIN GZ $.6/

7\J

7\J

g 3V\FKRIRJILD iZyUF]RGFL OD:H VIUXNIXU\ VSRiHF]QH
GU 1DSRUD = RIFHFK =% SURI QDG]Z S5RVyi
$.6/7 . $GDP =% $.6
/ z
= 7\J
I
)
% 3UJHGPLRI VZRERGQHJIR
N Z\ERUX = $.6/
)
-O)
7\J 7\J 7\J 7\J 7\J
3UJHGPLRI VZRERGQHJIR (INND JDZRGX 5R]Zyl FJRZIHND
Z\ERUX = $.6/ QDXFJ\FHID 0z GU GRURVEHIR GU OLNIHZVND $QIRSRIRILD NXIXURZD G = [HINLH VIUXNIXUN
: /HQIN 6IDQViDZ = $JIQHVIND = U ZHQIN 6IDQLViDZ = VSREHFJQH GU ZHQIN
$.6/7 . $.6/ z $.6/ - 6IDQViDZ = $.6
% Z NJRGQLX  ]DICFLD GR / -
= AN
a 7\J
N AN $QIRSRIRJILD NXNIXURZD G
= ; U /HQIN 6IDQLViDZ = OD:iH VIUXNIXU\ VSREHF]QH
L = LHINLH VIUXNIEXU\ z _
VSRIHEIQH GU ZHQN $.6/ = P sDUgGrézle 5DIDi =
6IDQLViDZ = $.6 - -
/ z
Z INJRGQLX  ]DICFLD RG
=
(@]
o
©




